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Ruby committer
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no commit in these days...




NaCl
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RubyWorld Conference
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Program

http://www.rubyworld-conf.org/
ja/program/
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Theme

Re-introduction to Ruby




Background

ENEZEEE—DDOH

only one implementation in the past

Tk EERZDITDREIIMN DI
no need to separate spec from it

E C AN IIZEDEZEL

several implementations in these
days




Specification

RubySpec

Drafting of the standard




RubySpec

RubySpec 1s a project to write a complete,
executable specification for the Ruby
programming |language.

[RubySpec — The Standard You Trust]
http://rubyspec. org/




Drafting of the standard

[PASES
RubyDEFFRELICE T DRE
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Written specification

4
frif

RubyWorld Conference C3*

Presentation in RubyWorld




What is Ruby?

NHTERXLD

Let's take anothor look




~ @ o Hello world

print Hello, world!l¥n”




Description

print

AV RIFGH L

method call

RIS

parenthesis omission




Python 2 version

print

Rubyit &EDIEL N (E?
What is different from Ruby?




Python 2 version

print

Rubyhlr &EDENEL?
What is different from Ruby?

print 2

print is purple




print in Python 2
L = BHEE

purple = reserved word

printS

print statement

Ak VAN A LS YA A

~ SO no parenthesis




~ ® @ Python 3 version

print (Hello, world!l¥n™)




print in Python 3

BEEFON U

function call

[N SEIMNHE

SO parenthesis needed

KD T)VIRREFBERR(IC
simpler than Python 2




Ruby 0.49 version

print ( )




print in Ruby 0.49

SIFBEAYVY RFUOH U

method call

2t U, fmlEEa cERmoc

but can't omit parenthesis




Parenthesis omission

Fri Aug 26 10:46:30 1994 Yukihiro Matsumoto (matz@ix-02)
*x spec: BIBINI-IEIZLIENA->TEZTELT-.

* parse.y: CCHETEALTWGRZBE L. FlEHH L1 X
Uy FIEUPHELNTES ELDIZH-=C &, modifierhiftl
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Parenthesis omission

perl 50U —X(1994/10/17)& D
HEFL

Introduced before the release of Perl
5

Perl 4 Cl31—YFEEFEFIIFEMNE
IR =720

can't omit parenthesis for user
czfined functions in Perl 4




Pros

=129 ()

easy to write

D}bajbg_b\

easy to read

HLSRE

e_xtensible




Easy to write

D X

A A TENDTRN
less typing




~ @ o Easy to read

class Foo
'nclude Bar
attr reader :baz,

end

 declarative




Extensible

Ruby 0.497CI(d. includeldF#IzE

Include is a reserved word in 0.49

EIMMDEEC KD AV Y RME

reimplemented as a method thanks
to parenthesis omission




Importance of syntax

YARMEDOSUY., B2 EST)LRE

=h
na

simpler extensible languages

Lisp, Smalltalk, JavaScript...

Ruby (3taX z &1,

syntax is important in Ruby

[ILLY




Importance of syntax

includeh XAVw REUTCEESNT
WD Ex1—HIFESE LR

Users are not aware of that include
IS Implemented as a method




Cons

SOEDEERMAE

complex syntax




Example 1




~ ® o Result

1) #=> 2
1).to_s #=> 27

+ 1).to s #=> 2
2) #=> syntax error (warn in 1.8)




~ ® @ Example 2




~ ® o Result




Simple Syntax?

JO05SAMIS>TIVICRERAZS

programs look simple

SCEBRIIAER

syntax itself is complex

PRI AR

hard to parse




~ ® o RT @yukihiro_matz:

R E AB DB ENEMIEHNSRUbyHE
MEIRATE  FOITEWVRLY,

{\ } yukihiro_matz

Yukihiro Matsumoto




RT @yukihiro_matz:

because the world and the

human spirit are complex, Ruby
IS complex

Larry Wall?




Why so complex?

spech\7aL S

because there is no spec

CTHEENDEMDTZA U0 IRUN?
but it might work well, mightn't it?




Summary (Hello world)

Python(3=>7)LI(C
Python got simpler

Ruby (&4 (C

Python got more complex




ChangelLog again

Fri Aug 26 10:46:30 1994 Yukihiro Matsumoto (matz@ix-02)
*x spec: BIBINI-IEIZLIENA->TEZTELT-.
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Uy FIEUPHELNTES ELDIZH-=C &, modifierhiftl
Eggt:t,mwmkUZF#Fﬁé£jlﬁo# ZEM

@w
N
RN,
Y] 9




spec

= (Espech'dp o 2!

iIn the past, there was a file named
spec In the source archive




~ ® o Ruby 0.49 spec (1)

¥k 4T L—4

4T L—4 & IZHIEEE (5 )L— ) DHBIEDT=HIZALLRE A Y Y KD
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using Z
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Ruby 0.49 spec (2)

1T L—FDREZNNED

endDE (XTI DFHIEZEITD

205 X/O—RIVZEENE Ukl F

private method(Z@TIEUESD

raiseld7RU\(faildDd+)




Ruby 0.49 spec (3)

begin(dprotect

II=(E AV W RIFONM U!

L (EI2E = DALY (12 (CCons) 7z ARk

fBICHE%FOOTU S RAEZHRENEAR




o @ Example (1/2)

class greeting
def I=(array)
do array. each using x
@say_hel lo(x)
end
fail CCerror”)

end def

def @say_hello(x)
print("Hello, 7, x, " 1¥n")
end def
end class




Example (2/2)

protect
g = greeting. new()

g 1= ( )
print ( )
resque

print( )
end protect

resque is a typo by Matz




Impression

C AVTRDRUby U 2 78U
It's not Ruby!




What is Ruby?

ZHDD%l T D58

Ever-changing language




Chanegs in Ruby 1.9

Ruby 1.8MREIFADEER
Solve problems in Ruby 1.8




Problems in Ruby 1.8

IEEAD L F DL I—T

Implicit lexical scope

lmh

L AW/N

multiple assignment

%




Implicit lexical scope

Ruby ([C(FEZZEE N AL

Nno variable declaration

YDA EES ZFHRNRD

declared by first assignments

JOwv2oO—)LZE#

block local variable




Why block local variable?

Subject: [ruby-list:8474] Re: scope of local variables
From: matz netlab.co. jp (Yukihiro Matsumoto)
Date: Tue, 23 Jun 1998 18:16:53 +0900

F0LL BEVATT

(snip)

20y RNEHIE

Block local variables are necessary for:

ThreadE B ZE 3K
Thread local variable

FHREATOH FEFEH

Proc object local variable

BEDE=OITBEZTLDTY.




~ o @ Example

m, r, max = Mutex.new, 0, 100
(1..max).map{
Thread. new{
=0
while 1<max#*max
| +=1
m. synchronize |
| r += 1

end

}.each{|e| e. join]




~ @ e@Problem 1

=0
[ .2, 3].each do |i]

end
p 1 #=> 3




Workaround 1

ZHANMEE UIRWK D (CRZ T
D

do not use same name




~ @ @ Problem 2

1. times do
hash = {ta => 1, b => 2]

end
p hash




~ @ @ Problem 2

1. times do
hash = {ta => 1, b => 2]

end
p hash #=> 494778040




Workaround 2

Subject: [ruby-list:8474] Re: scope of local variables
From: matz netlab. co. jp (Yukihiro Matsumoto)
Date: Tue, 23 Jun 1998 18:16:53 +0900

zio.%), EWEVATY

snip

TIhinb, O—HILEHDTHIZE5 o E W =HIZ1

So, you should obey the following rule to avoid the trap
of local variable:

[EEND| O—AHIILZE#HITHEETKAES) LTHL
assign (declare) local variables at the beginning of methods

EWD TO—AINERDFFTI TR EZRIBEDOLET.




Woaorkaround 2

Subject: [ruby-list:8474] Re: scope of local variables
From: matz netlab. co. jp (Yukihiro Matsumoto)
Date: Tue, 23 Jun 1998 18:16:53 +0900

zio.%), EWEVATY

snip

TIhinb, O—HILEHDTHIZE5 o E W =HIZ1

So, you should obey the following rule to avoid the trap
of local variables:

[EEND| O—AHIILZE#HITHEETKAES) LTHL
assign (declare) local variables at the beginning of methods

EWD TO—AINERDFFTI TR EZRIBEDOLET.

A—. BEsLIBRVVALURIEND—7?

Oh, should we declare local
variables? |




Larry Wall criticized

As for specifics, | must say that the example
of Ruby 1s the main reason [ decided against
implicit lexical scoping for Perl6

http://interviews. slashdot. org/article. pl?
sid=02/09/06/1343222&mode=thread&t id=145




Matz agreed

Ff=, RubyOO—H K &@Z:n TDRIZTA DUV
Tﬁliboli'f)t’q:@fﬂb\kt aWET (h
FYYANMESNMEAMELT), ShEEEL Z1ldRuby
DERKDRF[EZEB>TWT, EMNBNIEFELRNE
IL.\OTL\%)O)—C

http://slashdot. jp/developers/article.pl
7s1d=03/03/14/0258247




Multiple assignment

T X< X




Problem

SADFH)

enigmatic behavior




~ ® o Enigmatic behavior

class Foo
def to_ary; [1, 2, 3]: end
end
a, *b = Foo. new
pa#>1

pb #=> [2 3]

*C = F0o. new

D ¢ #=> [#<Foo:0xb7d08818>]
# not [1, 2 3]

O Is it a bug?




~ ® @ Maybe not a bug

xx = [1]
# x should be [[1]] ([1] if to ary called)

# Why?
y = *x[1]

#yislinl.8
X = [1]

y = *X

# 'y should be [1]




Changes in Ruby 1.9

Block

Multiple assignment




Block
JOvINSA—SIDORI—T

Scope of block parameters

JOv2O0— DL EHES

Block local variable declaration

AV MREIZNEDESTE

Consistency with method parameters

m m

->



Scope of block parameters

i =0
(1. 2.
end

p I #=> 0

3].each do |i|




Block local var declaration

0
2, 3].each do |i; x|




Consistency with method

parameters

lambda {|x, vy =2, &]| ... }.call (1) {

]
lambda {|x| p x}.call (1, 2)
=> ArgumentError

Prgcjnew [Ix] p x}.call (1, 2)




00




|

Multiple assignment

ZERANES 2 TIVIC

multiple assignment got simpler

s+ (FHPESADHKSHE

see akr's diary for details

2007-08-17

Happy end?




New problem

IR, yhiEesI TR > IEiEZEe. &
DEDI[CIRDFEDODNNEH

If y Is not an array, how should the
following code behave?

X = XYy




Conversion to array

in Ruby 1.8

call to_ary or to_a

in Ruby 1.9

call only to_a

— Matz said, should call only to_ary

o



~ @ @ Problem with Range




Possible solutions

Rangelcto _aryZzE#E — NG

define Range#to_ary — NG

Ruby 1.8DZF#)(CR I ?

reverted to the behavior of Ruby 1.8

to_splat?




Summary (Changes in 1.9)

W< DO\ DREIEHEER NI

some problems are solved

TH -
But...




Scope problem again

1. times do
hash = {ta => 1, b => 2]
end

p hash #=> 494778040

1.9 CHEREER

not solved in 1.9




Proposal 1

IEEADLF )L A IA—E> T DB
I

obsolete implicit lexical scoping




Obsolete implicit scoping

1. times do
hash = {ta => 1, b => 2]
end

p hash #=> {:a => 1 b => 2f




Probem

BIEMENRON
Compatibility




Solution

5 IA )L RTIEBEAODRXI—-E>D
=k

Implicit scoping is enabled by default

AN RSA AT 3> TEME

disable by a command line option




Problem of command line

option

75 DEEN HETE T

Both behavior can't coexist




Solution

magic comment




magic comment

1> )\1 SA\DIER

directive for compiler

J 71 JVEAU
per file




~ o @ Example




~ @ o Implicit-scope

# —*— implicit-scope: off —*—
1. times do
hash = {ta => 1, b => 2]

end
p hash #=> (a => 1 b => 2]

O >JA)L Mdon (1.8&EU)
) default is on (same as 1.8)




~ o o Explicit scoping

1.times do |;x]
X = 1

end
D X #=> error

O AIHvEL)
it looks dirty




Proposal 2

let




o elet

let do |x|
X = 1

end
p x #=> Error

O letlx2 0w D% 1EIMESNZF
_ )let just calls the block once




Initial value

let do |x, y = 2]

end. |

YJEREGIEE CEZ D!

You can specify the initial value!




Demo

ExUCHFEU

Implemented them




Patch

http://shugo.net/RubyKaigi/2009/
no-implicit-lexical-scope.diff




Conclusion

Ruby(IZ1D3

Ruby is an ever-changing language

RubyzZ X3

You may also be able to change it




References

MmatzZzinig 9 dHE

http://www.a-k-r.org/pub/howto-
persuade-matz-rubykaigi2008. pdf

strftime®%N(EEFRANFE U
SHEFIUTRUVLDE




Thank you

CE/IF?

Any questions?




